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o X, (FHREOR 22.3.)
) flx,y)=e*, (a,b) =(1,1).
(2 f,y)=v3-x2-y% (a,b)=(1,1).

188 12B  ROBIK f(x,y) IC2WT, Hifiz & 22Tk X, F 728 % 05 ciik(,

B/MED T E & B0l k. (BREDOR 23.1.)

1) flx,y)=x>—y>=3x+12y

2)  f(x,y)=x>-3axy+y> (a>0)

(3)  flx.y) = (262 +y2)e ()

@) f(x,y)=x2y? [E: #B0EH 124 7 CRHETE RWHlIcT. RA LD
LCi~3. 5 LTwnndbddrdiid, HREOHIE23.3 2, 2320
WEAENRSEZICRDZTL L. ]
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Flay) =% EIg) (x,y) # (0,0)

0, (x,y) = (0,0)

+y

Lo CTERT 5.

(1) fx(0,0) = £,(0,0) =0, fix(0,0)£(0,0) — fy(0,0)*> > 0 % {2 X.

(2) I (0,0) iICBWT fFAMMEE & bW EE2EID K. T2, TRPERD
B 124 ICHIE LR WEIRZFIHE k. [F BROMMIE, #ROEM 124 (1
FIE LB cwieA. ]



